
Chem 331, PS #7 Name
due Mon, Oct 28, 2001

1) Provide a mechanism
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3) Provide a mechanism.    REMEMBER THAT THE REACTIONS ARE REVERSIBLE

O

C*H3

H+ O

CH3 H3C*

C*= C13

2) Provide a mechanism
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use extra paper (use a staple or paper clip)

O

O

–OH

O

–O OH

O–

O

O
H

O

O–

OH

H+

OH

TsO–

OH O H

TsO– TsO–

O

C*H3

H

H3C

O

C*H3

H O

C*H3

H

CH3

H3C*

O

CH3

H

O

CH3 H3C*

H

H3O+

H2O H
H2O

KEY



4) Provide structures for A and B.  Provide complete mechanistic details.
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5) Provide structures for C – F.  Provide complete mechanistic details for each step of the reaction sequence.
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Hoffman elimination
occurs to give the
less substituted 
alkene
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Least substituted 
olefin is formed
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